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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.-

2. Attempt five questions in all.

3. Que.stio.n Number 1 is compulsory.

4. Attempt any four questions from Question No. 2 to 8.

5. All questions carry equal marks.

6. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

El & forg fdwm

L W aE-w @ e @ oW Ry W FufRe wom w s s fifag |

2. oA U Yl B I AR |

3. WE W@ 1 Jed # )

4. wETHEm 2 ¥ 8 X A R 4 v @ I AR |

5 |t W & 3w W 2 o

6. T UIH-UF 1 IR S A1 FR fhd v W A SR, AT o I @ e v

B B =Y |

P.T.O.




5166 o2

1.

Compulsory Question
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Explain any two from the following :
(a) Gross national product.
(b) Components of Balance of payments.

(c) Autonomouslnvestment.

frafoiaa 3 ¥ f5= @ =t =ren SR
(o7) vt wsftr e

(a) s Tiget B wew

(1) wwme e

Attempt any 4 questions.
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Explain in details how national income is estimated using expenditure approach ?
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(a) Explain the savings function. Explain its relationship with consumption function.
If savings function is S = —50 + 0.3Y, what will be the consumption function ?

(b) Explain investment multiplier. Given the savings function in part (a) what will

be the value of investment multiplier ?
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4. (a)
(b)
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Explain the circular flow of income in a two sector economy.

From the following information about an economy, calculate the equilibrium
level of GDP.

C =100 + 0.6Yd
I = Rs. 100 Crore
G = Rs. 50 Crore
T = Rs. 50 Crore

(X-M) = —40 Crore
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C =100 + 0.6Yd
I = Rs. 100 Crore
G =Rs. 50 Crore
T = Rs. 50 Crore

(X-M) = —40 Crore

5. Explain the process of credit creation by a commercial bank in a multiple banking
system. (5,10)
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6. What do you mean by demand for money ? What are the motives of holding
money ? (5,10)
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7.

Define fiscal policy. How does an expansionary fiscal policy affect the equilibrium

level of income in an economy ? : (5,10)
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(a) Explain Paradox of Thrift.

(b) What is monetary policy ? What kind of monetary policy you would suggest
when there is high rate of inflation in an economy ? Give reasons in support

of your answer. (5,10)
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